C:# Calcolare |e parentes

Nome:
Risolvi ogni operazione. Risposte
) 7x(3-1) =
1.
2) (4%x6)+6= 2
3.
3 (4+3)-6=
4,
4 (7x5):10=
5.
) (46+44):10 = 6.
7.
6) (14-1)-9=
8.
7) (4+1) x8=
0.
8 (80:10)+8= 10.
11.
9 (27:3)-3=
12.
10) (32:8)x2=
( ) 13.
11) (9x3)-12= 14,
15.
12) (7+6)+3=
13) (14-2)+8=
14) 9x7)x5=
15 (36-18):6=
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ﬂh Calcolare le parentesi Nome: Soluzioni

Risolvi ogni operazione. Risposte
D 7x@3-1)= 14 7x(2 1 Y
2 (4x6)+6= 30 (24)+6 2 30

3, 1
3 (4+3)-6= 1 (7)-6
4. 3r5
4 (7x5):10= 3r5 (35):10 5 .
5 (46+44):10= 9 (90):10 6. 4
7 40
6 (14-1)-9= 4 (13)-9
8 16
) (4+1)x8= 40 (5 x8 . 5
8 (80:10)+8= 16 (8)+8 10. 8
11. 15
9 (27:3)-3= 6 (9)-3
12. 16
100 32:8)x2= 8 (4x2 . 20
1) 9x3)-12= 15 (27)-12 14, 315
15. 3

12) (7+6)+3= 16 (13)+3

13 (14-2)+8= 20 (12)+8

14) 9x7)x5= 315 (63)x5

15 (36-18):6= 3 (18):6
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C:# Calcolare |e parentes Nome:

Risolvi ogni operazione.

16 30 315 3
1 16 4 40
14 9 3715 20

15

1) 7x(3-1) =
2 (4x6)+6=
3 (4+3)-6=
4) (7x5):10 =
5) (46+44):10=
6 (14-1)-9=
) (4+1)x8=
8 (80:10)+8=
9 (27:3)-3=
10 (32:8)x2=
11) (9x3)-12=
12) (7+6)+3=
13 (14-2)+8=

14) (9)(7))(5:

15) (36-18):6 =

10.

11

12.

13.

14.

15.

Risposte

; Semplificato 1-10
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